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4x% 4 2x + 12 Y+ of
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=

Al 8x3 — 1
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o

@)-1 ® 0 @ 1 2
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2. d?b+b%c-b3-d%cS A5 E)5HH?

@ (a+b)a-b)(b+c) @ (a-b)(b-c)(c+a)
@) a-b)a+b)b-c) @ (a—b)(a+b)(c—a)
® (a-b)(b+c)(c-a)

a’b + b*c - b3 - d’c
=a?(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)




2 =
X =2x—y? 42y 5 AFRAFHEY, (x+ay)(x - by +c) 7F =it
ol W, a, b, cE T=AHE & A2




4.

(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




5.

3 4 = (4 x 200 +ax+b) L WL AE ab

e

> E.

> ®™EH:

9

ar
H

flo

~&B

(3 H)

S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




x?—2x—y* + 2y 8 A5l SHHEY (x4 ay)(x - by +¢) 7F HrebL
&, a+b+c2 Fa Fotole

Ct -
= -

>
> ®MEt: 4

oH =

~&B \

x2—2x-y* +2y

= (x> =»*) - 2(x-y)
=(x+y-2)(x-y)

= (x+ay)(x-by+c)
Al4-E vl aotH
a=-1,b=-1,c=-2
La+b+c=-1-1-2=-4




¥ —4x® +x+ 62 AFEAMNHH (x+a)(x+b)(x+c) ©It}. a®+b* +c?
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~&B

flx)=x3—4x*> + x+ 60|22,
x=-19d, -1-4-14+6=0

TebA, £t (x+ 1) thire] BolAith
%, f(x)= (x+1)9 9545 2=t

= f(x) = (x+1)2(x) =

O(x) = THAR o2 S5t}

-1]1 -4 1 6
-1 5 -6
1 5 6] 0

f(x) = (x> =5x+6)(x+1)
f() (x=3)(x-2)(x+1)
a?+b?+c* = (-3 +(-2)+12=14




19993 + 1

o) 1o
1998><1999+14 we

a = 19992t 5FH
1998 x1999+ 1= (a-1a+1=a?-a+1
. 19993 +1 a®+1
T 1998x 1999+ 1 a?—a+1
(a+1)(a —a+1)
- 2-—a+1
:a+1=2000




I ohahA] 13 32 4 2x, xt—4xd 4 4x2 O] Z| T ZeFot 2] ATl
27 f(x),g(x) 22 M, £(3) +¢(3) 2 k= 57

@ 18 @ 19 ® 20 (@)21 ® 22

¥ -3+ 2x=x(x-2)(x-1)

x—4x3 4452 = 22 (x - 2)°

Sf @) =x(x-2),8(x) =22 (x-1) (x-2)°
A fB)+g(3)=3+18=21
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Al 7Rl tFd A w3 +ax+b, X +cex? +a, ex® +bx+4, 9 F

Sh7b x - 19 ®, a+ b+ ¢ 9] 27

fx)=x*+ax+b—> f1)=1+a+b=0--Q
gx)=x3+cx*+a— gl)=1+c+a=0--©
h(x) =cx®*+bx+4—> h(l)=c+b+4=0--©
QD+O+ONH 2(a+b+c)+6=0
La+b+c=-3




11. 95 F dEsi7t

i

A

1=M?

o

@ (x=y)?-wy(y-x) = (x=y)(x—y+xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

@64a3 —125 = (4a + 5)(16a% - 20a + 25)

@D (2-x) (2—x+1)=6=(2-x+3)(x+1)(x-2)

® 2x2-5x+3=(x—1)(2x-3)

64a’ — 125
= (4a)’ - (5)°
= (4a - 5) (164> + 20a + 25)
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@ x+y+2 @ x-y+2

@ x-2y+1 ® x+y+1

x2 +3xy+2y> - x—3y-2
=x>+ By-1)x+2y>-3y-2
=x>+@By-Dx+2y+1)(y-2)
=(x+2y+1)(x+y-2)




14. 3224+ 2xy—y? —x+3y—-29 A2l AL2?
O 2x+y+1 @ x+y+1 ® 2x-y+1
@3x—y+2 ® 3x+y+2

=3+ (y-Dx-(-1)(y-2)
A-EoHSHE (x+y-1)(3x~y+2)
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16. T2 =4+ x3 - 11x2-9x+ 189 ¢

® x-3 @ x+3 ® x+2

(@)x—I—l

@ x-1

x=1)(x-3)(x+2)(x+3)=0
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17. 11-133+433-1324+33-13+ 119 Q17 ofd AL 1297

@3 @ 7 ®11 @u O 2

~&B

11=a, 13 =5 2} 3}4
a-b®+3ab® +3ab+a
=a(b®+3b%> +3b+1)
=alb+1)3=11-143
=11x22x73
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- x*+x -1 _
18. x=1001Q o, 2" TX 7 o) zro J15toda),
X = Bttt U= o]'o:]

=
H -

>
> =D 1000

B

-t a2-1 (x* +1)(x®-1)
Prdtxrl (At )(x+1)
=x-1
=1001 -1
= 1000




19.

dojo] Ag=a, boll thote] A4 A& anb = a® —ab + >t T T,
(x?ax) + (2xax) — (xal) — 3-& A5-EfotA?

@ -+ -x+4) @ (x-2)(x+ 1) —x+4)
@ (x-1)(x+2)(x*-x+2) @ (x-1)(x+1)(x+2)2

® (x-2)(x+1)(x+2)?

B

x2ax = x* =8 + 12

2xAx = 4x% — 2x% + x% = 3x2

xAl—xz—x—i—lO]UE

F = -84+ +3x2-x*+x-1-3
:x4—x3+3x +x—4
=x-Dx+1)(x2-x+4)




20. F o|xrkgA o] HThFOFET x - 2013, HABHET} A - 642 +
3x+ 109 T, 5 chabAl o] g et (2, o] hepe] Agt wE
1ot}

@ 2x2-6x+38 @ 2x2-6x+7 @2x2—8x+8

@ 2x2-9x+ 10 ® 2x2+6x+9

%

= chgpAle] Ajgerst x-20]m2

FAL2 (x - 2)a, (x —2)b (a,b= A 2A)

= (x — 2)ab = x* — 6x% + 3x + 10
=x-2)(x+1)(x-5)

d8B2 a=x-5b=x+1

E=a=x+1,b=x-5

wetA % chapae

(x=2) (x=5) = x% - 7x + 10,

(x=2)(x+1)=x2-x-2

S TR O] 2 2x% - 8x + 8

L-[H-Ll
wﬁ%




21. % Oigale] HBolhl 20— 10]7 £ OigAle] BL 400 dx
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Tx+ 2]tk o] % ThHA1o] T g(x

Do @1 3 2 @ 3 ®)4

B

4x3 + 4x% —Tx + 2
1
(x— 5)(4x2 +6x—4)

=(x- %) 22 (2x2 +3x-2)(2x - 1)(2x — 1) (x + 2)

& oA o] Fol (2x - 1)2(x +2) 0]
gt (26 - 1) 0B

T ogdae (2x-1),(2x—1)(x + 2)
gx)=(2x-1)+ (2x-1)(x+ 2)
g(1)=143-1=4




22,

@ 2x? - 5x @ 2x2-x-3 ® 2x2+x+3
@2x2—5x—3 ® 2x2+5x+3

= A 4, BO) AThEOHT} 3 0] 1 HABHAT} x(x-3) (r+1)
olet.

wfetA ol7kgre] A7t 19 T gL

Y7 x(x=3), (x=3)(x+ 1) °|th.

L% O} B = 26— 5x- 3




23. 1A A7 19 F ol HRF47} x 4 30] 1 H4F

Hip7h X3 + 1% — 6x A o, F o] 2FA 9] 27
O (x+1)(x-2) @ (x+2)(x+4)
@)2(x-1)(x+3) @ 2x—2)(x—4)

® 2(x+1)(x-4)

B
Ao gors7) x + 30|22 T oIRAL
a(x+3),b(x+3) (a, b = ARA)E 5t
HAaFHSTE f(x) =3 + x* - 6x 2} 59
f(x) =x(x>4+x-6) = x(x+3)(x-2)
ufeb & capae

x(x+3), (x=2)(x+3) o|B=&

Tote F g g2
x(x+3)+ (x-2)(x+3) =(x+3)(2x-2)
2(x—1)(x+ 3)




24. O] (x+1)(x+3)(x+5)(x+7) + a7} ol cFA o] A FEo
HEE g9 g& Astoi=t

>

> Heh: 16

~&B

(x+1D)(x+3)(x+5)(x+7)+a
=x+1x+7(x+3)(x+5)+a
=(x2+8x+7)(x>+8x+15) +a
XP+8x=A2=°H
() =A+T7)(A+15)+a

=A2+224+105+a

=(A+11)2-16+a
WEtA], a = 16 QD W OJ2F4] x2 4 8x + 11 2] A FA o] Hrt,




25.
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A 58 ry.c7 5HE FolW 270 2R
x—|—y—|—z:0 ...... @

1 1 1 3
—db S b = = Zaaonss @
x y z 2
x2_|_y2_|_z2—1 ...... ©

(x+y+2)2=x2+y +22+2(xy +yz +zx) °|BZ
@, ©°lA 0% =1+ 2(xy + yz + zx)
1

'.xy+yz—|—zx=—§ ...... @

O DFYFX _ S na
xyz 2

3xyz = 2(xy + yz + zx)

i 1

. XYz = —g

T, 34+ +22-3xyz
=x+y+2)(x®+y*+22—xy—yz—2zx)
@A x+y+z=00]B=2

1
B4y +78=3xyz=3- (_5) = -1




8993 + 1

899 x 898 + 1

@27

@ 2574 ® 2174

@ 1874

® 1570

B

(Z4) =

a = 899 &t 2| g5

a®+1

ala-1)+1

(a+1)(a*>—a+1)

a?-a+1

=a+1=900
900 = 22 x 32 x 52
9009 k50 A4 = (24 1) x

=27

2+1)x

(24+1)




27.

B Ao dojef gto] 60°]aL, thzb4l 9] Zol7t
Aol Zylol=?

@® 88 @ 100 ® 124 @®)148

B

il

4(x+y+2) =604 x+y+z=15

F, 49l dol=

VX2 +y2+ 22 = \T701B=

Xy 42 =T7

o] wj, 25HA| o] AR Ol= 2(xy + yz + zx) °| L
P4y 422 =(x+y+2)?%-2(xy+yz+zx)0]BE
77 = 152 = 2(xy + yz + zx)

" 2(xy +yz+zx) =225 - 77= 148

webA|, A5 A 9] AE ol 148 |t

A5HA | 7t29] Do, Hizo] do], £olE 47 x, y, 221




28. F AHF a, bol ot [0, b] = a® - b*EF F W, [¥% x-1] +
[2x+1, 3] + [0, 1] A+EF|SE (x - a)(x® + x° +bx+c) oftt.
o, < a, b, c T a+b+co 2?

@5 @ 10 @15 @ 20 ® 25

B ‘
[x2, x=1] + [2x+ 1, 3]+ [0, 1]
=xt-(x-1)2+(2x+1)2-94+0-1

=xt -+ 2 -1+4x%+4x+1-10

=x*+3x2+6x-10

= (x=1)(x® + x* + 4x + 10)

=(x-a)(x®+ x> +bx+c)

Wb, a=1, b=4, c = 10922

a+b+c=15




F oA 23 -2x2 -5x+ 63 3x3 + (a—9)x? —ax—6a 2] ZTi-32FF7}
o4 1, 9] e

@1 @1 o> ®-2 O3

~&B ~

¥ -2x2-5x+6=(x—1)(x-3)(x+2)

3x3 + (a-9)x* —ax — 6a°]
=3, 81 +9a—-81-3a—-6a=0

x=-2%), -24+4a - 36+ 2a - 6a # 00|22

- 18 %2 7o} gt

x=1HY¥3+a-9-a-6a=0,a=-




30. f(x)=x*+ax+b, gx) =x*+cx+d7t S 2SI

w2

[L]17
ab—c+d9 27

A f(x), g(x) 2] HaFulsE 13 + 322 - 13x - 15°]Tt.
© f(1)=-4, 5(0)=5

® -31 @ -11 @5 @ 13 ® 29

B ‘
= oAl o] H 4TS
x4+ 3x2 - 13x— 15=(x+1
Q5E = A F QSER f(1) = -4,
8(0) = 501 FE== f(x), g(x) & TET
f)=@Ex+1)(x-3)=x*-2x-3
g(x)=(x+1)(x+5)=x>+6x+5
a=-2,b=-3,c=6,d=5
ab-c+d=5
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=
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Ut
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=
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w
=
=
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31. A ®e] Zoltx, y, 91 A2t

1 42 BCOIA 54 (x* -y (x +y) -
2(x*—y*)22+ (x-y)zt = 0°] 4

A
He o], AABCE o H 42171

(x* =y (x +y) = 2(x* = %) + (x —y)2*
= (x=y)(x+y)?(*+y*) - 2(x - ) (#® + 1y +y*)2® + (x - y)z*
= (x = + 22y +y*) (2 +5%) = 202 + xy + )2 + 2}
( -t + 222 + 263y + 2xy3 + x2y? + y* —2x22% - 2xy7% -
2+
(x=y)xt +y* + 24+ 2x%y% — 2x272 — 2y%2% + 2xy(x% +y% - 22))
= (x =+ 3% = 22)2 + 2xy(x% +y* - 22)}
=(x- Y)(x +y —Z)(x2+y2—z2—|—2xy)—0

DO
><

y?

o x=y9l ol 5H A4 EE 7} HlHIg] 22 A7t
(cx?+y =22+ 2xy = (x+y)? - 2ol A AT Wil x, y, 2

=x+y#2)




32, F O 23 +ax® + bx + 13 %3 + ba® + ax + 1 2] ZhZoFRrt
AL o, a + b2 Fh& oA L
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> ™et: -2

~&B ~

Ax) =x*+ax®> +bx+1,B(x)=x*+bx> +ax+12 EOH
A(x) — B(x)

= (P +ax®+bx+1)—(x®+bx® +ax+1)

— (a—b)x(x-1)

Ax). B(x) S H1Ae] A%} 1 0|2 Bt x o] 7]
thx—10] 5 4 AT F ] Aol 10]2.2 g
oFek x—1 0]tk

w2pd ThA A £ x- 18 952 7B ez gl
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Al)=1+a+b+1=0

La+b=-
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